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Note:	 The question paper is divided into three sections A, B and 

C. Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' VWm "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| H$m CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
Very Short Answer Type Questions

Note:	 Answer all questions. As per the nature of the question 
you delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
A{V bKw CÎmar¶ àíZ

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ 
eãX, EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ 
àíZ 2 A§H$m| H$m h¡&
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1)	 (i)	 Define co-factors.

		  H$mo’o$³Q>a H$mo n[a^m{fV H$s{OE&

	 (ii)	 Name two enzymes which catalyzes the irreversible steps 

of glycolysis.

		  Xmo EÝOmB‘m| Ho$ Zm‘ {b{IE Omo ½bmBH$mobmB{gg An[adV©Zr¶ nXm| 
H$mo CËào[aV H$aVo h¡&

	 (iii)	 What is the net gain of ATP during glycolysis?

		  ½bmBH$mobmB{gg Ho$ Xm¡amZ ATP H$m ewÕbm^ {H$VZm hmoVm h¡?

	 (iv)	 Define gluconeogenesis?

		  ½byH$mo{Z¶moOoZr{gg H$mo n[a^m{fV H$s{OE&

	 (v)	 Which amino acid is referred to as “Conditionally essential”.

		  {H$g A‘rZm| Aåb H$mo "geV© Amdí¶H$' H$hm OmVm h¡?

	 (vi)	 Name two pathways for nucleotide biosynthesis.

		  Ý¶yp³b¶moQ>mBS> O¡d g§íbofU Ho$ Xmo nW ~VmBE&

	 (vii)	What is saltatory conduction?

		  CN>bZodmbm g§dmhZ ³¶m h¡?

	 (viii)	Name 4 neurotransmitters.

		  Mma Ý¶yamoQ´>mÝg‘rQ>ag Ho$ Zm‘ {b{IE&

	 Section - B	 4 × 8 = 32
Short Answer Questions

Note:	 Answer any four questions out of eight. Maximum  word 
limit is 200 words for each question. All questions carry 
equal  marks.
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(IÊS> - ~)
bKw CÎmar¶ àíZ

{ZX}e :	 AmR> àíZm| ‘| go H$moB© Mma àíZ H$s{OE& àË¶oH$ àíZ H$m CÎma 200 

eãXm| go A{YH$ Z hmo& g^r àíZmo§ Ho$ A§H$ g‘mZ h¢&

2)	 Name the inhibitors of TCA cycle and state at which level they 
act?

	 TCA MH«$ Ho$ AdamoYH$mo Ho$ Zm‘ {b{IE VWm ~VmBE {H$ do {H$g nX na 
H$m¶© H$aVo h¡&

3)	 Explain the involvement of carnitine in the β-oxidation of fatty 
acids.

	 dgm¶w³V Aåbm| Ho$ β-Am°³grH$aU ‘| H$maZr{Q>Z H$s ^mJrXmar H$mo 
g‘PmBE&

4)	 Why do animals that live in colder regions generally have 
more polyunsaturated fatty acids in their membranes than do 
animals that live in warm climates?

	 Eogm ³¶m| h¡ {H$ gd© joÌm| ‘| ahZo dmbo OÝVwAm| {H$ {Ppëb¶m| ‘| A{YH$ 
‘mÌm ‘| ~hþ Ag§V¥á dgm¶w³V Aåb nm¶o OmVo h¡ ~OmE {H$ CZ OÝVwAm| Ho$ 
Omo {H$ J‘© joÌm| ‘o§ nm¶o OmVo h¡?

5)	 Suppose there was a mutation in the voltage-gated K+ channel 
of a neuron so that they opened at the same time as the Na+ 
channels.

	 (i)	 What effect would this have on the neuron? Explain.
	 (ii)	 What if they didn’t open at all during on action potential?
	 ¶{X {H$gr Ý¶yamZ Ho$ K+ {d^d Ûma ‘| CËn[adV©Z Ho$ MbVo dh Cgr g‘¶ 

IwbVm h¡ O~ Na+ M¡Zb IwbVm h¡ V~…
	 (i)	 Ý¶yamZ na ³¶m à^md nS>oJm? g‘PmBE&
	 (ii)	 AJa dh {H«$¶m {d^d Ho$ Xm¡amZ Iwbo hr Zht?
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6)	 Draw a well labelled diagram of the section of retina of human 

eye.

	 ‘mZd ZoÌ Ho$ aoQ>rZm H$s H$mQ> H$m gwZm‘m§{H$V {MÌ ~ZmE&

7)	 Explain the mechanism of breathing enumerating inspiration, 

expiration, lung volumes and regulation of breathing.

	 ídmg H$s {H«$¶m{d{Y H$mo gm§g boZo, N>moS>Zo, ’w$â’w$g Am¶VZ VWm CgHo$ 
{dZ¶‘Z H$s n[aJUZm H$aVo hþE g‘PmBE&

8)	 Write short notes on:

	 (i)	 Homeostosis

	 (ii)	 Acclimatization

	 {ZåZ na g§{já {Q>ßnUr {b{IE…
	 (i)	 g‘pñW{V
	 (ii)	 dm¶wObmZwHy$bZ

9)	 Explain any two Primary lymphoid organs studied by you.

	 AmnHo$ Ûmam nT>o JE {H$Ýht Xmo àmW{‘H$ bgrH$mdV² A§Jm| H$mo g‘PmBE&

	 Section - C	 2 × 16 = 32
Long Answer Questions

Note:	 Answer any two questions. You have to delimit your 
each answer in maximum upto 500 words. Each question 
carries 16 marks.

(IÊS> - g)
XrK© CÎmar¶ àíZ

{ZX}e  :	 {H$Ýhr Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 

eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 16 A§H$ H$m h¡&
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10)	 Explain why:
	 (i)	� AB cell that produces IgG cannot switch to production of 

IgM but an IgM producing cell can switch to production of 
IgG.

	 (ii)	 �IgM is the first immunoglobulin produced in response to 
foreign proteins. 

	 (iii)	 �Moving water across the gills would be more difficult than 
moving air through lungs.

	 (iv)	 Monoclonal antibodies are directed against single epitope.
	 g‘PmE ³¶moo…-
	 (i)	� IgG CËnm{XV H$aZo dmbo AB H$mo{eH$m IgM H$m CËnmXZ Zht H$a 

gH$Vr naÝVw IgM CËnm{XV H$aZodmbr H$mo{eH$m IgG H$m CËnmXZ 
H$a gH$Vr h¡&

	 (ii)	� {dXoer àmo{Q>Zm| Ho$ à{V{H«$¶m ‘| ~ZZodmbr àW‘ Bå¶yZmo½bmo~w{bZ IgM 
h¡&

	 (iii)	� {Jb Ho$ Ama-nma {ZH$bVm nmZr A{YH$ H${R>Z hmoVm h¡ ~Om¶ {H$ 
’w$â’w$g go {ZH$bVr hdm&

	 (iv)	 ‘moZmo³bmoZb à{Vajr EH$ EonrQ>mon Ho$ {déÕ {ZX}{eV hmoVr h¡&

11)	 Write notes on:
	 {ZåZ na {Q>ßnUr {b{IE…
	 (i)	 ELISA	 ELISA
	 (ii)	 Western Blotting	 npíM‘r gmo»Vm
	 (iii)	 SARS	 SARS
	 (iv)	 Swine Flue	 ñdmB©Z âby
	 (v)	 AZT	 AZT
	 (vi)	 Cytokines	 gm¶Q>mo{H$Ýg
	 (vii)	Hypersensitivity	 A{Vg§doXZerbVm
	 (viii)	MHC	 MHC
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12)	 Describe the various types of antibodies. Also write about 

antigen-antibody Interaction.

	 {d{^Þ àH$ma H$s à{Va{j¶m| H$s ì¶m»¶m H$s{OE& à{VOZ-à{Vajr H$s 
nañna {H«$¶m Ho$ ~mao ‘| ^r {b{IE&

13)	 Write a detailed note on cells of the immune system and their 

differentiation.

	 à{Vajm àUmbr Ho$ {d{^Þ H$mo{eH$mAm| VWm CZHo$ {d^o{XH$aU na EH$ 
{dñV¥V ZmoQ> {b{IE&


